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17,290,000 17,290
= 17,290




A B2
. 0 S AU oF
&2l A £ HE HSTAl J|EH 2= (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O 2N EAYZ XIS BANY X2
25,400,000& 25,400
= 25,400
Os7EIARS SAAY K&
12,700,000 12,700
= 12,700
OXMHESESAE S SAAE K&
7,000,000& 7,000
= 7,000
03 LM EHE2SHIEX 136,800 107,710 29,090
OS7MOI=2l 2| 36,000,000 36,000
= 36,000
OSTMOIS2l MR X0 212H] § X
el 32,000,000& 32,000
Al 16,000
- 16,000
ot 2ss822 23|
32,000,000& 32,000
Al 16,000
- 16,000
Ost=It=&dUSXe 2]
32,000,000 32,000
Al 16,000
- 16,000
Os¥dAgs 24| 4,800,000 4,800
= 4,800
401 Al HIZL 201 14,000 14,000
01 Al&H| 14,000 14,000
ONsg8l dHxa X
14,000,000 14,000
CAEE 2 28 Fdl 5,000 5,000
401 AlEHIZ S 0HbI 5,000 5,000
01 A28l 5,000 5,000
oz !X - 2el 5,000,000 5,000
ANESA AE 244,141 197,016 47,125
= 35,325
Al 33,875
- 174,941
A SAHAE K& 152,601 109,576 43,025
Al 24,200
- 128,401
307 212+01& 152,601 109,576 43,025
Al 24,200
- 128,401




2A:

X XH -
o=

Chol: A=A DS (ol @)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
05 CIZtRIErZ 152,601 109,576 43,025
OXHASAHHIE 23| 41,871,930& 41,872
Al 8,000
- 33,872
OXEASAHEIE 2124d] 110,728,070& 110,729
Al 16,200
- A,529
N SA 2E3 T2 O 18,890 17,000 1,890
Al 9,675
- 9,215
307 212+01 A 18,890 17,000 1,890
Al 9,675
- 9,215
05 QIZIRIEr S 18,890 17,000 1,890
OZ=z 08 HE At 18,890,000& 18,890
Al 9,675
- 9,215
N3ASAH 2CUI0IH XI& - =4 66,400 64,248 2,152
= 33,200
- 33,200
307 2I2+01A 66,400 64,248 2,152
= 33,200
- 33,200
05 QIZtRIELZ 66,400 64,248 2,152
OXEAF ZOIUIOIE XL
66,400,000 66,400
= 33,200
- 33,200
M= S8 UASA B It MUlA X 4,250 4,192 58
= 2,125
- 2,125
307 QIZ2t01 A 4,250 4,192 58
= 2,125
- 2,125
05 CIZtRIErZ 4,250 4,192 58
OX2SA BEZ 4,250,000 4,250
= 2,125
- 2,125
CHEtE A XIALS AL &= K& 2,000 2,000
307 212+01™ 2,000 2,000
02 QIZHA A AL E X 2,000 2,000
OUstEAXIAISALE 25 X
2,000,000& 2,000




A B2
M METR SA
ool dEds gdst (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
dHEH=s =4 1,117,030 669,058 447,972
Jl 188,871
Al 120,475
- 771,201
= 36,483
dExs 243t 1,117,030 669,058 447,972
7l 188,871
Al 120,475
- 771,201
= 36,483
NEgEs 88017 29 114,138 106,8%4 7,244
301 EtE N = 114,138 106,8%4 7,244
R2isdd - 2SFS2EYE 114,138 106,8%4 7,244
ONHRE +9FI|2 29 114,138
css(7=s 1083) 2,867,400« 123 34,409
o88(72 983) 2,770,2002 128 33,243
cHEZIMI(72 1083)
2,867,400 *120% 3,441
cHERIHI(7T= 958)
2,770,200& *120% 3,325
o2y 100,000 x2& * 122 2,400
ogE| 130,000& x2&* 123 3.120
o ==H| 100,000 x2&* 122 2,400
ozdt| 1,500,000& x2& 3,000
cEXZSUHEES 3,000,000& x2&H 6,000
o&M=Ma S0
600, 0002 2 * 102 12,000
oll=Hl(+g=, +2, =&, &= 5)
1,600,000& x2&H 3,200
oUEd Hel= 100,000 x2& »22| 400
o=zl 0ld o=
600,000 x2H +53] 6,000
o 2z 24 300,000& x2E *22] 1,200
SUIMSAIE 2tel 67,600 117,000 249,400
201 Ler23| 7,600 6.800 800
01 At2teltl 1,000 1,000 0
OSUIMSAIE 28 AtR2ct]
1,000,000& 1,000
02 s3=gHl 6,600 5,800 800
O&J| - dot=k K= 450,000 <123 5,400
OMSAIE2 SXAE i SHE
1,200,000 1,200
401 Al HIZ S 0HbI 60,000 110,200 250,200
01 Al&H| 60,000 110,200 /50,200
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2N =23
I MEHS 24
ool dEds gdst (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| OsunsAg "8 60,000, 0002 60,000
HSHAL 2Ot K& 24,070 34,070 10,000
307 2I2t01 & 24,070 34,070 10,000
02 2B YAIHE A 24,070 34,070 10,000
ONZTH NS H23 &t I
1,570,008 1,570
ONEbH HOIEEUS &It X
2,000,000& 2,000
ORUAIRIHSHE &0t X2
16,500,000 16,500
ORUAI 018 MBS &0t X2
2,000,000& 2,000
ORUAl 24 MEHSOHE &t I
2,000,000 2,000
7o MEH=s X 10,200 17,700 AT7,500
201 Zet=d] 200 200 0
01 At2teltl 200 200 0
OMEHS IS AL S
20,0002 102 200
203 =2l 10,000 10,000
03 A=A H R S| 10,000 10,000
OdugxN= 243 10,000,000& 10,000
SEHSDY 2 3,417 %.287 870
Al 11,160
T 24,257
307 glztol & 36,417 36,287 A870
Al 11,160
- 24,257
05 2I2tRE =3 35,417 36,287 AB70
OMEHSDA 16,667, 000 16,667
Al 5,000
- 11,667
0080l Hsud 3,000,000& 3,000
Al 1,500
- 1,500
OFa2d M ud 2,860,000& 2,860
Al 1,430
- 1,430
OF+HSH 9,490,000 9,490
Al 1,530
- 7,960
OF 52Ul MEHS 4ETY
3,400,000 3,400
Al 1,700




2A:

ST
M METR SA
Chel: MENs 2435t (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| = 1,700
7 M=3 X3 74,578 73,672 906
Al 30,000
- 30,000
= 14,578
307 gl2to| & 74,578 73,672 906
Al 30,000
- 30,000
= 14,578
03 2N EE=2SHIEx 74,578 73,672 906
Os+ M=3 X2 60,000,000& 60,000
Al 30,000
= 30,000
ONSE ARA UXR S
14,577,500 14,578
= 14,578
2ot HEHS A=A B 94,371 89,391 4,980
Il 47,185
Al 23,593
- 23,593
307 el2to| & 94,371 89,391 4,980
Jl 47,185
Al 23,593
T 23,593
05 21t S 94,371 89,391 4,980
Oger S E=A X
2,607,750 «3H 123 93,879
) 46,939
Al 23,470
T 23,470
Ot S HHXI(2ER)
164,000 34 492
) 246
Al 123
- 123
HEd HEMFAEAL iR 94,371 59,594 34,777
Jl 47,186
Al 23,592
T 23,593
307 elzto| & 94,371 59,594 34,777
Jl 47,186
Al 23,592
- 23,593
05 2IZtAE = 94,371 59,594 34,777




A B2
M METR SA
Chel: MENs 2435t (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ool24l HEHSXI Xt B
2,607,750 «3H 123 93,879
Jl 46,940
Al 23,469
- 23,470
o2 MEHSXZA BHX(EEZ)
164,000 3% 42
) 246
Al 123
T 123
2ot - o2d MEHSXNEA M2 HA 45,665 38,250 7,415
Al 11,880
- 11,880
= 21,906
307 lztol & 45,665 38,250 7,415
Al 11,880
- 11,880
= 21,905
05 2ItRIE = 45,665 38,250 7,415
oYt - 0124 MBHSTET HS M (Al
Hl) 23,760,000 23,760
Al 11,880
- 11,880
Odgh- 24l ST X2 e
21,905,000 21,905
= 21,906
AR AT 01BA X2 115,200 45,000 70,200
) 80,640
Al 17,280
T 17,280
307 glztol & 115,200 45,000 70,200
Jl 80,640
Al 17,280
- 17,280
05 2ItRIE = 115,200 45,000 70,200
OAZ =% 0l8d X
115,200,000 115,200
Il 80,640
Al 17,280
- 17,280
ZoHe!l Ax=2A 018 X 19,800 3,200 16,600
Il 13,860
Al 2,970
- 2,970




A B2
M METR SA
ool dEds gdst (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 19,800 3,200 16,600
Jl 13,860
Al 2,970
- 2,970
05 2ItRIE = 19,800 3,200 16,600
O Ax=2% 018 X
19,800,000 19,800
Il 13,860
Al 2,970
- 2,970
2 MEH=s gdat XA 33,000 33,000 0
307 lztol & 33,000 33,000
02 2IZHB A E & 33,000 33,000
OSE a8 A=l
23,000,000& 23,000
OST H= & =S
10,000,000& 10,000
sSTHELME2 2E 388,620 0 388,620
101 e124d| 165,024 165,024
M ORNZZ2NSE S 165,024 165,024
Ooggisa 2g o2y 165,024
o2d&Z JIZHA
2,850,000 «12&«1H 34,200
oA (3IAH) J12HAl
2,500,000« 122 +1 30,000
oAld el JI2HA
86,3033 x248& 1 21,404
SALTR| JI2N MEAUD PHAEY
3,473 %2482 1 862
SHMSXIZAL J12EA]
2,544,000« 123 +2& 61,056
o=SXEE 300,000 +5& 1,500
ocHEHNS 300,000 x5 +23] 3,000
SRS 13,002,000& 13,002
201 er=23y| 140,236 140,236
01 AtR2t2lHl 19,980 19,980
ONM=E22g Jlz+=s4l
1,000,000& «12& 12,000
OIIEZNMAIAE |2
17,0002~ 12 204
Ozl TE Y SX A
220,000 x 122 2,640
orle 2= 20,0002 * 122 240
O&=J| LXt 28,0002 12 336
O3J1&8 &0 Xt 226,000 122 2,712
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o
Ha: o

2A: SR
M= =4
ol dEHs 24st EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OZele o 33,000& *12& 3%
OARI12] tHH 44,0003 12& 528
ORol3d sy 77,000 123 924
2 S=29| 120,256 0 120,256
o®IIE 4,019,000& x12& 48,228
O3 962,000 =128 11,544
OeIHYl 2= 155,000& «12& 1,860
Oonvsd 150,000« 12& 1,800
OV RXI 24 20,0002 122 2,508
OsYIIEBE BRES
143,000& x 123 1,716
OmEJIgIE R RS
220,000& =123 2,640
O gordate| RANE=
100,000& x 12& 1,200
ogdxsa H4AE9 45,600,000 45,600
OAZEOIMMAUSH S 3,160,000& 3,160
301 LPENZ 63,360 0 63,360
14 J|EtE A= 63,360 0 63,360
OAIRFEA = 80,0003 *66A| 2t 123 63,360
401 A& HIZLS0HY| 20,000 0 20,000
01 Al 20,000 0 20,000
OUYHSE 24 )| %t
20,000,000& 20,000
OIS OtXSH Met BH 32,250 32,250 0
otMsr 201 ME BRZ {5 K& 32,250 32,250 0
oldlz SAXIA 30,000 30,000 0
308 AXISHMSOIA 30,000 30,000 0
2 0S8 XNAZ 2R 30,000 30,000 0
O10itY oibl= s4 A& 30,000,000 30,000
HI&AERTHE] JI1SS Al 2,250 2,250 0
201 Ler23| 2,250 2,250
01 AtR2elt] 2,250 2,250
OXAl S=2H & ME
15,0003 *30 2 *x5E 2,250
2SS4 HeIAMEIA HME ¥ olZet 25 962,295 793,062 164,233
= 203,000
- 759,29%
HES4 AblA 23t 962,295 798,062 164,233
Ay 203,000
- 759,29%
FESA AIE A2 141,703 137,986 3,717
201 LB-2AY| 141,703 137,986 3,717




FA: SF
Hu: HUSA OAMHA MR Q olZe &
ol 2SS MHIA 2st (CHol: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 7,960 7,060 900
OSag U OlIsAl SR UXR
1,800,000 *32] 5,400
OZAIEED 4258 Y 880
oM X 20,0003 58 A 100
o EUIHELIX 130,000 «6H 780
OFBSNYRET S|
8,000 6 »36 1,680
02 S3=gHl 133,743 130,926 2,817
Oy ds 2823z
3,366,000~ 128 40,392
Ogttds JlEes
4,0003 x4 A+ 128 4,512
OAZXENHIA 30,0003~ 12 360
OXE3H(T/0) AHBR
23,0002 x50 A+ 128 1,380
OFUAz AEZ 90,0002 «3UH* 122 3,240
OCATV==il= 8,800 »46LH* 122 4,858
OSXHHIAIX MBIA ZE5=2
2,500,000& *12& 30,000
OfIgda AE= 55,0002 «2U =122 1,320
ORHILAEESIMEIA AIZE
400,000 123 4,800
OZ320ITH0] sl6d A EZ
33,0002 150 A 123 5,940
OFUAEIILED|(2d) KX
169,013,000 8% 13,522
OIPEEI] | XIHI 5,266
o228 IPAE3III(6300H)
131,800, 0002 *3% 3,954
= DSE(55)IPESH] (500H)
17,150, 0002 *3% 515
=S (2t IPESHI(300H)
26,550,000 3% 797
OZAESI| (2CH) Al
502, 7002 *3% 16
o2t &3l =
23,210,000 5% 1,161
OAIE Y&SEHI(2U) [
5,500,500 5% 276
Oliglold ¢#&&Hl |
88,048,210& 5% 4,403
OS2 NESAIAE 2|
14,600, 0002 +8/ 12+5% 487
OFUSAHZ S==(A0 THEIXI S)
1,500,000& *24] 3,000
ORI HAEX 2| 1,635
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SN BRD
4 2SN HYUAHIA HS & elZet 25
el JESA MBIA ZEt (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
o2 THAZ (2KA)
15,333, 000& *5% 767
CRF TN I (0KVA)
17,359,000 +5% 868
0843 &I KA
35,330,680 +5% 1,767
OAFBEAAANSZE RH)
20,550, 0002 *3% 617
O=FHEAIEHl =AlH| 5,820,000 *3% 175
OZAMH =Xd 42,214,020 *8% 3,378
SFH/ZE AAE 22 |
24,750,000 +5% 1,238
FESHAAE O & DS 43,500 22,000 21,500
405 AtatE = 43,500 22,000 21,500
01 ML ESFSHI 43,500 22,000 21,500
Oligleld SSSHALE Wi
32,500,000 *14] 32,500
CHIULEZHME Wil
5,500,000 x24! 11,000
CCTVEAIQHA G F= 49,477 120,236 AT0,759
201 er23| 37,477 34,736 2,741
02 S5=2g4l 37,477 34,736 2,741
OgdgE CCIV =Xl 329,852,000 *5% 16,493
OB WHECY S
18,390, 2402 5% 920
OzldAEZ 88,0003 1504 2% 123 15,840
OoNIIR3 8,000& 441 2=+ 122 4,224
401 Al HIZL 01| 12,000 85,500 AT73,500
01 Al&HI 12,000 85,500 AT73,500
OCCTV LED SHUHEXIE & X
400,000 *300H 2 12,000
2SS B ABIA 1,200 900 300
201 fer= 3| 1,200 900 300
01 At 2|l 1,200 900 300
OAISEBAIEH] W& 1,200,000& 1,200
SUFENEEZ 29 14,109 13,913 196
201 Ler23 | 14,109 13,913 196
02 S5=24g4l 14,109 13,913 196
ORMEENEEZ 2|
14,108,560 14,109
CCTV SEAMUH 28 422,306 503,027 280,721
101 @12A4H| 344,128 330,576 13,562
04 JIZtNZ22 NS+ 344,128 330,576 13,552
ogyE v 344,128
S 86,3033 12 200! 207,128
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SN BRD
4 2SN HYUAHIA HS & elZet 25
ol 2SS MHIA 2st SEESE)
M- B SRASH) - HRAR - B2 of v e HIDE2
oFFd 86,3033 x 12«40 41,426
oIS ItE 86,3032 x12&+8L 8,280
cdiggs 2d=H
3,47321%122+3302! 13,837
SoRI2SSY
86,3033 x50+ 12 642 33,141
cRYIRAY
86,3033 *150%+* 12 x202 31,070
o= XHLE 300,000& * 12 3,600
cdEHN= 300,000+ 12 3,600
oS | 42,4803 x24 B 23] 2,040
201 Ler23| 78,178 85,871 AT,693
01 At2teltl 7,200 6,550 650
OSERAME 229 BHLY
100,000 5 & »23] 1,000
OSE2MHEH 234l 250,000+ 122 3,000
OFLHE A 2HH| 150,000 «62 900
OMZEZHHME 2ts/W7 e (2ol dlA)
575,000 +44] 2,300
02 S3=gHl 70,978 79,321 A\8,343
OCCTVESE 2 NIHIE AIAE =X 70,978
SH/MW AIAE 540,841,000 *6% 32,451
oS/ AIAE 321,053,000 *12% 38,527
29d AOIEAE SSHERE 25 290,000 0 290,000
= 203,000
- 87,000
405 KHaHF S| 290,000 0 290,000
= 203,000
- 87,000
01 ML ESFSHI 290,000 0 290,000
OBAE ADEAEl SHEAE 7=
290,000,000 290,000
[ 203,000
- 87,000
HY2HZHI(BR) 39,384,206 36,468,153 3,916,053
elIE =g 39,104,004 36,173,315 3,930,689
SR8 UH2HH S 2c 38,513,638 34,627,315 3,886,323
101 21A4H| 29,840,273 28,494,576 1,345,697
01 2= 29,840,273 28,494,576 1,345,697
@== 20,795,877
clFaH Hss(FEE)
102,983,000 1 102,983
cdIUIEBE HES=(42)
96,030,000 x9H 864,270
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SN B2
. #RSHAH|(E2W)
&2l I 2| CEEREE
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
o83 K=3(52)
85,054,000& *34H 2,891,836
S¥=t-—t= 16,936,788
=1 4,183,500& x 145« 122 7,279,290
= 2,867,400& %140 122 4,817,232
- 82 2,110,800 *135Y = 128 3,419,496
=1 1,821,500 x65% * 128 1,420,770
(OFSFmE=t=, 16,936,788,000&/ x1/12& 1,411,399
OAIRIR 224 (RE2E) 1,525,628
o662 12,5312 *34A| 2103 128 526,603
o7z 11,3192 *x34A| 2104« 12& 434,107
o8z 10, 1623 x34A| 278+ 12& 323,396
SYor=] 9,620 x34 A 2H+33F + 122 129,524
ool @y 3,89
ESTEYY
12,5312 x100A1 2Fx 1+ 12& 15,038
1S XA
11,3192 x100A| 2x 12 128 13,583
CEHI|A 12,5313 xB5 A 2+ 1B x 128 8,271
oFHXHH 34,719
o= 12,5312 +50A| 22 128 15,038
72 11,3192 +50A| 22 128 13,583
- 82 10, 1623 *50A| 2H* 1B 128 6,098
oA EEHSHEAL 40,387
o= 12,5312 x45A| 22 x 12& 13,5634
- 8= 10, 1623 x45 A| 2Hx32H x 128 16,463
= 9,620& *45A| 2Hx2H x 128 10,390
O HEt 1,658,952
cIIELY 327,600
- B X 40,0003 *3008 * 12& 144,000
NE(RHES S)
20,000& *150&H x 128 36,000
Y PIE| 30,000& *150H x 128 54,000
-7 PE| 70,000&*80Y » 12& 67,200
- SURHRHA 110,000& x20H 122 26,400
oR0IEALY 1,500,000& x20H « 12& 360,000
olZFEIRZ 329,640
25E 0] & 130,000& +x97H x 128 151,320
- 20801 A 110,0002x26H 128 34,320
150 & 80,0003 x51H*12& 48,960
104904 60,000& *47H +12& 33,840
5E0| & 50,000& x102& x 128 61,200
oE2RLE 31,200
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SN B2
M HY2AHH(SRD)
s lIEE2ghl EEREE
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
=3 50,0003 +20E «12& 12,000
gqE 40,0002 40K« 122 19,200
CRHIRRATY 50,000 =168+ 12 9,600
oleTRALY
16,936,783,000& *4., 1%+2/5 277,764
oJ|lsd38sY 34,680
52014t 50,0003+ 12& 1,800
6=2~7= 30,000 *588 « 12& 20,880
8=20I|5t 20,0003 *508 = 12& 12,000
SIlEHBLLINND 28,680
JISH L JIA 30,0002 4682+ 122 24,480
S AHRIDIAL 2 2EE(8,92)
20,0003 =118+ 123 2,640
2HA(6,732) 10,0003 *13F 122 1,560
cllARLE 50,0003 *47F+12& 28,200
o&elsg 130,000 x5 122 7,800
S QSIANRI |2 9,120
= 80,0002 x2Z »12& 1,920
6= 60,0002 x5F *12& 3,600
- 7=20I3t 50,0002 6 12& 3,600
coZYURSE 42,948
QRN (MER2)
909,000 x 18+ 12& 10,908
CURRH 70,0002 x 18+ 12& 840
2SS A 50,0003 *25Z *12& 15,000
- O|ZJ| AL 50,000 x7H*12& 4,200
- =0l At 250,000 x 18+ 12& 3,000
2E8isS 50,0003 *158 = 12& 9,000
oz2R2+Y 70,0002 +84F«12& 70,560
oA =XE R
70,0000+72%4 122 60,480
SABIZXIAR4T I
30,0003 *458 « 12& 16,200
oA 200,000& x2H + 122 4,800
oHlAZEY 19,680
T E2
8,000 +3«10H«12& 2,880
THLHCH R = 2 (T At )
8,000& x5 x7H+12& 16,800
O%ol - RI|E =2t 50,000,000 50,000
OFuZAH|(F2d)
140,000 360« 122 604,800
OZE SOt 16,936,783,000& *1/12+60% 846,840
OS2 4| 237,29,000& 237,295
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SN B2
M HY2AHH(SRD)
oel: el 2dH| (CH9: &S1)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
OAZEXH|(FE2E) 831,960
oI 500,000&x 1+ 122 6,000
oRIAXE 450,0003 x 1+ 123 5,400
Sl 400,000 x7F*12& 33,600
=bg 250,000& x22H 123 66,000
Sl 185,000& 113+ 12& 250,860
78 180,000 100« 12& 216,000
=8=-9= 175,000&* 1218 =123 254,100
O&8uman3 1,877,521,250& 1,877,522
N HASREZS 8,673,365 6,132,739 2,540,626
01 H3RES 7,381,198 4,916,669 2,464,529
OlEr=t == 32,311,310,000& *%% 2,908,018
(OL-FSF= 32,311,310,000& %9. %% 3,198,820
OEEERE
32,311,310,000& %3.767% 1,217,168
OS2
32,311,310,000&%0.177% 57,192
02 FIALEBEHZ 1,292,167 1,216,070
O=oAATY =
32,311,310,0002+3.545% 1,145,436
OLoIZ LS =}
1,145,436,000& %12.81% 146,731
FRZE =8 2IY| 304,106 324,907
101 eI t| 304,106 324,907
2 Il 304, 106 324,907
OF 304, 106
= 180,478
Z22(0EH01 4
4,443,300 x 1B+ 122 53,320
2,119,300& x5F x 122 127,158
f 8,683
4,443, 3002 x50%* 15 +23 4,444
2,119, 3003 *20%*5H »23| 4,239
3,360
130,000 x1H* 123 1,560
50,0003 «3F 123 1,800
oxI2RY 41,570
AR RAE(E )
12,6103 *40A| 2t 1H =123 6,053
ANZIRI2R4H(=E)
9,685 *40A| 2Hx5H * 123 23,244




SN B2
M HHSAZH|(E2D
s lIEE2ghl EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
EI=Er
4, 2033 *8A 2+ 1H+3652 12,273
otEaY 6,480
S 40,0002 462 * 122 2,880
IE(EHNES 5)
20,0002 6B+ 12& 1,440
JNIE] 30,0002 <6 12& 2,160
oX¥H 30,0003« 1H 123 360
o HAMZAH| 140,0003 *6H* 122 10,080
o HAEF I 180,478,000 *1/12%120% 18,048
o IS A
180,478,000 *1/12+0.86%5/30 2,156
oA gE x| 12,720
a9 185,000 x1H + 122 2,220
=& 175,000& x5 12 10,500
oA Z 20,170,200& 20,171
MRS CIE 2| 90,179 29,576 60,603
101 2124d| 90,179 29,576 60,603
02 JIEt& 2 90,179 29,576 60,603
OaRss 90,179
o3= 1,770,800& *3H 12 63,749
o AlIZt2lY
9,620 *34A| 2Hx3H* 12 11,775
oItEg 3,240
- B A 40,0003 *3Z*12& 1,440
NEEAHES S)
20,0003 +«3F 123 720
IN{E] 30,0003 3123 1,080
o HAHZ A 140,000 *3H 122 5,040
o HEFIH| 63,749,000 *1/12%120% 6,375
24 15 2FY| 196,081 191,517 4,564
101 2124l 119,562 115,656 3,906
03 SRH(RINHS) 222 119,562 112,616 6,946
OF=4 IR (FPHEHA) 52,238
ol|l22(2258) 2,881,6900&*12& 34,581
o HAHZA| 140,000& «12& 1,680
cItEsY 1,680
- B A 40,0003+ 12& 480
B PNIE| 30,000& *12& 360
E=UPNE 70,0002 x12& 840
o&l|I2ssg 20,0002 128 240
o A2 3,835,060 *110%*38% 1,604
o HAF I 2,831,690& +80% 2,306
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A B2
M HZYRAZH(SRY
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SEEEEr
16,0543 x 150%+24 Al 2t x 122 6,936
SAuPNEE=Eo WIS
16,0543 #BA| 2H+25& 3,211
Ofs4 SR (=E4) 47,324
=Jl2a(1753) 2,740,230« 12& 32,883
odAHG A 140,000& * 12 1,680
oItESY 1,680
- B X 40,0002 122 480
U PUIE] 30,0002~ 12& 360
SMAHA 70,000 * 122 840
oditatti= 3,665,470 *110%+38% 1,533
ocEEFIHI 2,740,230 +80% 2,193
oAe2RE
15,2583 % 150%+ 17 A1 2t 12 4,669
SRUPNEE=EPI RSy
15,2583 +8A| 2H+ 22 2,686
O34 xIzHl 10,000,000 10,000
O=z=2ds 10,000,000& 10,000
WM HsEE=S 76,519 75,861 658
M 3RA(RIY) 22X B828E=3 S 76,519 75,861 658
O=0=EsRE=
396, 175,000 *4 . 5% 17,828
O=0AHIESERE=
954,819,000 *3.545% 33,849
(ONYE=3t=:E= e 970,060,000 *1.75% 16,977
Ot 2eRY= 358,994,000 * 1% 3,590
O QAL RES
33,371,000&%12.81% 4,275
=38l 280,202 294,838 N 14,636
SAI123H 280,202 294,838 N 14,636
201 er2 3| 18,108 18,108 0
01 AtR2t2|HI 18,108 18,108 0
ORA29 JI2+24l 279,000& 36 10,044
OJlz=gfd S|
8,000 x34!x28EH « 12 8,064
202 04l 84,864 97,920 213,056
01 =LHA LI 84,864 97,920 13,056
OJi2gR+8 0yl
260,000 +34 2 » 122 «80f 84,864
203 2=l 131,630 131,630
01 J122geR=4a| 102,300 102,300
O3 58,300,000 58,300
OR7&¥d 40,700,000 40,700
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